# Multiple Results for Critical Quasilinear Elliptic Systems Involving Concave-Convex Nonlinearities and Sign-Changing Weight Functions 

${ }^{1}$ Chang-Mu Chu and ${ }^{2}$ Chun-Lei Tang<br>${ }^{1,2}$ School of Mathematics and Statistics, Southwest University, Chongqing 400715, P. R. of China ${ }^{1}$ College of Science, Guizhou Minzu University, Guiyang Guizhou 550025, P. R. of China<br>${ }^{1}$ gzmychuchangmu@sina.com, ${ }^{2}$ tangcl@swu.edu.cn


#### Abstract

This paper is devoted to study the multiplicity of nontrivial nonnegative or positive solutions to the following systems $$
\begin{cases}-\triangle_{p} u=\lambda a_{1}(x)|u|^{q-2} u+b(x) F_{u}(u, v), & \text { in } \Omega \\ -\triangle_{p} v=\lambda a_{2}(x)|v|^{q-2} v+b(x) F_{v}(u, v), & \text { in } \Omega \\ u=v=0, & \text { on } \partial \Omega\end{cases}
$$ where $\Omega \subset R^{N}$ is a bounded domain with smooth boundary $\partial \Omega ; 1<q<p<N, p^{*}=$ $(N p) /(N-p) ; \triangle_{p} w=\operatorname{div}\left(|\nabla w|^{p-2} \nabla w\right)$ denotes the $p$-Laplacian operator; $\lambda>0$ is a positive parameter; $a_{i} \in L^{\Theta}(\Omega)(i=1,2)$ with $\Theta=p^{*} /\left(p^{*}-q\right)$ and $b \in L^{\infty}(\Omega)$ are allowed to change sign; $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$is positively homogeneous of degree $p^{*}$, that is, $F(t z)=t^{p^{*}} F(z)$ holds for all $z \in\left(R^{+}\right)^{2}$ and $t>0$, here, $R^{+}=[0,+\infty)$. The multiple results of weak solutions for the above critical quasilinear elliptic systems are obtained by using the Ekeland's variational principle and the mountain pass theorem.


2010 Mathematics Subject Classification: 35J50, 35J55, 35 J92
Keywords and phrases: Quasilinear elliptic systems; critical Sobolev exponent, concaveconvex nonlinearities, sign-changing weight functions, Ekeland's variational principle, mountain pass theorem.

## 1. Introduction and main results

Let $\Omega \subset R^{N}$ be a bounded domain with smooth boundary $\partial \Omega$. We are concerned with the following problems

$$
\begin{cases}-\triangle_{p} u=\lambda a_{1}(x)|u|^{q-2} u+b(x) F_{u}(u, v), & \text { in } \Omega  \tag{1.1}\\ -\triangle_{p} v=\lambda a_{2}(x)|v|^{-2} v+b(x) F_{v}(u, v), & \text { in } \Omega \\ u=v=0, & \text { on } \partial \Omega\end{cases}
$$

where $1<q<p<N, p^{*}=(N p) /(N-p) ; \triangle_{p} w=\operatorname{div}\left(|\nabla w|^{p-2} \nabla w\right)$ denotes the $p$-Laplacian operator; $\lambda>0$ is a positive parameter; $a_{i} \in L^{\Theta}(\Omega)(i=1,2)$ with $\Theta=p^{*} /\left(p^{*}-q\right)$ and
$b \in L^{\infty}(\Omega)$ are allowed to change sign; $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$is positively homogeneous of degree $p^{*}$, that is, $F(t z)=t^{p^{*}} F(z)$ holds for all $z \in\left(R^{+}\right)^{2}$ and $t>0$, here, $R^{+}=[0,+\infty)$.

In recent years, more and more attention have been paid to the existence and multiplicity of nonnegative or positive solutions for the elliptic problems involving concave-convex nonlinearities and critical Sobolev exponent. Results relating to the semilinear problems can be found in $[2,6,8,9,16,19,21,22,24,27,28]$, and the references therein. For the quasilinear problems, the corresponding results can be found in $[1,7,10-12,14,15$, $17,18,26,29]$, and the references therein. By the results of the above papers we know that the number of nontrivial solutions for problem (1.1) is affected by the concave-convex nonlinearities, and the sign of solutions for problem (1.1) depends largely on the sign of the weight functions. In general, the nonnegative solutions of problem (1.1) are obtained when the weight functions satisfy some conditions. In order to apply the maximum principle to guarantee the positivity of solutions for problem (1.1), they usually require that the weight functions are nonnegative.

Set $u=v, a_{1}(x)=a_{2}(x)$. Then problem (1.1) reduces to the quasilinear scalar elliptic equations with concave-convex nonlinearities

$$
\begin{cases}-\triangle_{p} u=\lambda a_{1}(x)|u|^{q-2} u+b(x)|u|^{p^{*}-2} u, & \text { in } \Omega,  \tag{1.2}\\ u=0, & \text { on } \partial \Omega .\end{cases}
$$

Problem (1.2) was originally considered in [2] when $p=2, a_{1}(x)=b(x) \equiv 1$. They proved that problem (1.2) has at least two positive solutions for $\lambda>0$ small enough. Subsequently, for the case $p=2$, the multiple results for solutions of problem (1.2) were extended to the variable $a_{1}(x)$ and the variable $b(x)$ (see [8,9,21, 28]). For the case $p>1$, [14] and [15] have considered the case $a_{1}(x)=b(x) \equiv 1$ of problem (1.2). By using the variational approach, they obtained that problem (1.2) has at least two positive solutions for $\lambda>0$ small enough. For more general cases, the multiple results for solutions of problem (1.2) can be found in [10] and [18].

For the semilinear elliptic systems, Wu in [29] has considered the following semilinear elliptic systems

$$
\begin{cases}-\triangle u=\lambda a_{1}(x)|u|^{q-2} u+\left.\frac{\alpha}{\alpha+\beta} b(x)|u|^{\alpha-2} u\right|^{|v|}, &  \tag{1.3}\\ \text { in } \Omega, \\ -\triangle v=\lambda a_{2}(x)|v|^{q-2} v+\frac{\beta}{\alpha+\beta} b(x)|u|^{\alpha}|v|^{\beta-2} v, & \\ \text { in } \Omega, \\ u=v=0, & \\ \text { on } \partial \Omega,\end{cases}
$$

where $1<q<2$; $\alpha>1, \beta>1$ satisfy $2<\alpha+\beta<2^{*}\left(2^{*}=(2 N) /(N-2)\right.$ if $N \geq 3,2^{*}=$ $\infty$ if $N=2) ; \lambda>0$ is a positive parameter; $a_{1}, a_{2} \in L^{(\alpha+\beta) /(\alpha+\beta-q)}(\Omega)$ are allowed to change sign; $b(x) \in C(\bar{\Omega})$ with $\|b\|_{\infty}=1$ and $b \geq 0$. By the variational approach involving the Nehari manifold, he proved that problem (1.3) has at least two nontrivial nonnegative solutions for $\lambda>0$ small enough. Subsequently, Hsu and Lin in [19] considered the case $a_{1}(x)=b(x) \equiv 1, a_{2}(x) \equiv \mu / \lambda(\mu>0)$ and $\alpha+\beta=2^{*}$ of problem (1.3). By using the similar methods of [29], they obtained that problem (1.3) has at least two positive solutions for $\lambda>0$ small enough.

In a recent paper, Hsu in [17] has considered the case $a_{1}(x)=b(x) \equiv 1, a_{2}(x) \equiv \mu / \lambda$ $(\mu>0)$ and $F(u, v)=2 /(\alpha+\beta)|u|^{\alpha}|v|^{\beta}, \alpha>1, \beta>1$ satisfy $\alpha+\beta=p^{*}$ of problem (1.1). With the help of the Nehari manifold, he proved that problem (1.1) has at least two positive solutions for $\lambda>0$ small enough. The variational approach involving the Nehari manifold require that the nonlinearity $F$ is second order derivative about $u$ and $v$. However,
we only assume that $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$, the Nehari manifold technique is invalid. Hence, in order to obtain the multiple results for solutions of problem (1.1), we need to look for other methods. In addition, as far as we know, very few multiple results of problem (1.1) have been obtained in the literate for a more general term $F$ when the weight functions are allowed to change sign. So our goal will be to extend the corresponding results in [17] to a more general term $F$ and the sign-changing weight functions. In the present paper, under the conditions of the weight functions are allowed to change sign, we consider problem (1.1) and obtain the existence and multiplicity of nontrivial nonnegative or positive solutions for problem (1.1) by applying the Ekeland's variation principle and the mountain pass theorem. The main results of this paper extend the corresponding results in [17] and our proof is completely different with him. In fact, our proof for the principal result is much simpler than that of [17, Theorem 1.2]. Moreover, even in the elliptic equation case, our results also extend the corresponding results in [10] and [15].

Before stating our results, we give some notations and assumptions. Let $z=(u, v)$, $|z|^{p}=|u|^{p}+|v|^{p}, E=W_{0}^{1, p}(\Omega) \times W_{0}^{1, p}(\Omega),\|w\|_{s}=\left(\int_{\Omega}|w|^{s} d x\right)^{1 / s}(1<s<\infty),\|w\|_{\infty}=$ $\sup _{x \in \Omega}\{|w(x)|\},\|w\|=\left(\int_{\Omega}|\nabla w|^{p} d x\right)^{1 / p},\|z\|_{E}^{p}=\|u\|^{p}+\|v\|^{p}, B\left(x_{0}, \delta\right)=\left\{x \in \Omega:\left|x-x_{0}\right|<\delta\right\}$.
( $\left.a_{1}\right) a_{i}(x) \in L^{\Theta}(\Omega)$ and $a_{i}^{+}=\max \left\{a_{i}(x), 0\right\} \neq 0$, where $i=1,2$;
$\left(a_{2}\right)$ There exist positive constants $\beta_{0}, \delta_{0}$ and $x_{0} \in \Omega$ such that $B\left(x_{0}, 2 \delta_{0}\right) \subset \Omega$ and $a_{i}(x) \geq \beta_{0}(i=1,2)$ in $B\left(x_{0}, 2 \delta_{0}\right)$.
$\left(b_{1}\right) b(x) \in L^{\infty}(\Omega)$ and $b^{+}=\max \{b(x), 0\} \neq 0$;
( $b_{2}$ ) $b\left(x_{0}\right)=\|b\|_{\infty}$ and $b(x)>0$ for all $x \in B\left(x_{0}, 2 \delta_{0}\right)$;
$\left(b_{3}\right)$ There exists $k>(N-p) /(p-1)$ such that

$$
b(x)=b\left(x_{0}\right)+o\left(\left|x-x_{0}\right|^{k}\right) \text { as } x \rightarrow x_{0} .
$$

In addition, we denote positive constants by $C, C_{1}, C_{2}, \cdots$. The main results of this paper are as follows.
Theorem 1.1. Let $1<q<p<N,\left(a_{1}\right)$ and $\left(b_{1}\right)$ hold. Assume that $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$is positively homogeneous of degree $p^{*}$ and $F_{u}(0, v)=F_{v}(u, 0)=0$ for all $u, v \in R^{+}$, then there exists $\Lambda>0$ such that problem (1.1) for all $\lambda \in(0, \Lambda)$ has at least one solution $z_{\lambda}=\left(u_{\lambda}, v_{\lambda}\right)$ satisfies that $u_{\lambda} \geq 0, v_{\lambda} \geq 0$ in $\Omega$ and $u_{\lambda} \neq 0, v_{\lambda} \neq 0$. Moreover, if $a_{i}(x) \geq 0(i=1,2)$ and $b(x) \geq 0$, then $z_{\lambda}$ is a positive solution, that is, $u_{\lambda}>0, v_{\lambda}>0$ in $\Omega$.

Theorem 1.2. Let $1<p<N,(N(p-1)) /(N-p)<q<p<N,\left(a_{1}\right),\left(a_{2}\right),\left(b_{1}\right),\left(b_{2}\right)$ and $\left(b_{3}\right)$ hold. Assume that $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$is positively homogeneous of degree $p^{*}$ and $F_{u}(u, 0)=F_{u}(0, v)=F_{v}(u, 0)=F_{v}(0, v)=0$ for all $u, v \in R^{+}$, then there exists $\lambda^{*}>0$ such that problem (1.1) for all $\lambda \in\left(0, \lambda^{*}\right)$ has at least two nontrivial nonnegative solutions $z_{\lambda}=\left(u_{\lambda}, v_{\lambda}\right)$ and $\bar{z}_{\lambda}=\left(\bar{u}_{\lambda}, \bar{v}_{\lambda}\right)$ satisfy that $u_{\lambda} \neq 0, v_{\lambda} \neq 0$, and $\bar{u}_{\lambda} \neq 0, \bar{v}_{\lambda} \neq 0$ in $\Omega$. Moreover, if $a_{i}(x) \geq 0(i=1,2)$ and $b(x) \geq 0$, then $z_{\lambda}$ and $\bar{z}_{\lambda}$ are two positive solutions of problem (1.1), that is, $u_{\lambda}>0, v_{\lambda}>0$, and $\bar{u}_{\lambda}>0, \bar{v}_{\lambda}>0$ in $\Omega$.

From elliptic systems reduce to elliptic equations, our Theorem 1.2 can be described as
Corollary 1.1. Let $1<p<N$ and $(N(p-1)) /(N-p)<q<p$. Assume that $\left(a_{1}\right),\left(a_{2}\right)$, $\left(b_{1}\right),\left(b_{2}\right)$ and $\left(b_{3}\right)$ hold. Then there exists $\lambda^{*}>0$ such that problem (1.2) for all $\lambda \in\left(0, \lambda^{*}\right)$ has at least two nontrivial nonnegative solutions $u_{\lambda}$ and $\bar{u}_{\lambda}$ satisfy that $u_{\lambda} \neq 0$ and $\bar{u}_{\lambda} \neq 0$ in $\Omega$. Moreover, if $a_{1}(x) \geq 0$ and $b(x) \geq 0$, then $u_{\lambda}>0$ and $\bar{u}_{\lambda}>0$ in $\Omega$.

Remark 1.1. [17, Theorem 1.1 and 1.2] are the special cases of our Theorem 1.1 and 1.2 corresponding to $a_{1}(x)=b(x) \equiv 1, a_{2}(x) \equiv \mu / \lambda(\mu>0)$ and $F(u, v)=2 /(\alpha+\beta)|u|^{\alpha}|v|^{\beta}$, $\alpha>1, \beta>1$ satisfy $\alpha+\beta=p^{*}$. There are other functions $F$ satisfying the conditions of our Theorem 1.1. For example,

$$
F(u, v)=|u|^{\alpha_{1}}|v|^{\beta_{1}}+|u|^{\alpha_{2}}|v|^{\beta_{2}}
$$

where $\alpha_{i}>1, \beta_{i}>1(i=1,2), \alpha_{1} \neq \alpha_{2}$ and $\alpha_{1}+\beta_{1}=\alpha_{2}+\beta_{2}=p^{*}$. Obviously, $F$ satisfies the conditions of our theorems.

Remark 1.2. In the constant coefficients case, it implies from $p \geq 3$ that $(N(p-1)) /(N-$ $p) \leq p^{*}-2 /(p-1)$. Hence our Corollary 1.1 extend [15, Theorem 2].

Remark 1.3. In the case $p \geq 3$, our Corollary 1.1 extend [10, Theorem 6.3]. In fact, in the case $p \geq 3$, the condition $p>q>p^{*}-2 /(p-1)$ deduce that $N>p(1+p(p-1) / 2)$ (see Remark 1 in [15]), which implies that our condition $\left(b_{3}\right)$ is weaker than the condition (b) of [10, Theorem 6.3].

## 2. Palais-Smale condition

In this section, we show that the corresponding functional of problem (1.1) satisfies the $(P S)_{c}$ condition. Let $u^{ \pm}=\max \{ \pm u, 0\}$, the corresponding functional of problem (1.1) is
$I(u, v)=\frac{1}{p} \int_{\Omega}\left(|\nabla u|^{p}+|\nabla v|^{p}\right) d x-\frac{\lambda}{q} \int_{\Omega}\left[a_{1}(x)\left(u^{+}\right)^{q}+a_{2}(x)\left(v^{+}\right)^{q}\right] d x-\int_{\Omega} b(x) F\left(u^{+}, v^{+}\right) d x$
for $(u, v) \in E$. Under the hypotheses of our theorems, it is obvious that $I$ is a $C^{1}$ functional. It is well known that any critical point of $I$ in $E$ is a weak solution of problem (1.1). Hence, in order to obtain the nontrivial solutions of problem (1.1), we only need to look for the nontrivial critical points of $I$ in $E$. In addition, since $F$ is positively homogeneous of degree $p^{*}$, we have the so-called Euler identity

$$
\begin{equation*}
z \cdot \nabla F(z)=p^{*} F(z) \tag{2.1}
\end{equation*}
$$

and

$$
\begin{equation*}
F(z) \leq M|z|^{p^{*}} \quad \text { for all } \quad z \in\left(R^{+}\right)^{2} \tag{2.2}
\end{equation*}
$$

where $M=\max _{\left\{z \in\left(R^{+}\right)^{2}:|z|=1\right\}} F(z)>0$. Now we first give some preliminaries.
Definition 2.1. Let $c \in R, E^{*}$ denote the dual space of the Banach space $E$.
(i) A sequence $\left\{z_{n}\right\} \subset E$ is called $a(P S)_{c}$ sequence of $I$ if $I\left(u_{n}\right) \rightarrow c$ and $I^{\prime}\left(z_{n}\right) \rightarrow 0$ in $E^{*}$ as $n \rightarrow \infty$;
(ii) We call that I satisfies the $(P S)_{c}$ condition if any $(P S)_{c}$ sequence $\left\{z_{n}\right\} \subset E$ of I has a convergent subsequence.

Lemma 2.1. Assume that $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$is positively homogeneous of degree $p^{*}$ such that $F_{u}(0, v)=F_{v}(u, 0)=0$ for all $u, v \in R^{+},\left(a_{1}\right)$ and $\left(b_{1}\right)$ hold. Let $\left\{z_{n}\right\}=\left\{\left(u_{n}, v_{n}\right)\right\} \subset E$ be a $(P S)_{c}$ sequence of $I$, then $\left\{z_{n}\right\}$ is bounded.

Proof. By the Sobolev imbedding theorem, there exists $C>0$ such that

$$
\begin{equation*}
\|w\|_{s} \leq C\|w\|, \quad \text { for all } \quad w \in W_{0}^{1, p}(\Omega) \quad \text { and } \quad 1 \leq s \leq p^{*} . \tag{2.3}
\end{equation*}
$$

Let $A=\max \left\{\left\|a_{1}\right\|_{\Theta},\left\|a_{2}\right\|_{\Theta}\right\}$. According to the hypothesis $\left(a_{1}\right)$, for each $\varepsilon>0$, by the Hölder inequality and the Young inequality, we imply from (2.3) that

$$
\begin{align*}
& \left|\frac{\lambda}{q} \int_{\Omega}\left[a_{1}(x)\left(u^{+}\right)^{q}+a_{2}(x)\left(v^{+}\right)^{q}\right] d x\right| \\
& \leq \frac{\lambda}{q}\left(\left\|a_{1}\right\| \Theta\|u\|_{p^{*}}^{q}+\left\|a_{2}\right\|_{\Theta}\|v\|_{p^{*}}^{q}\right) \leq \frac{\lambda}{q} A C^{q}\left(\|u\|^{q}+\|v\|^{q}\right)  \tag{2.4}\\
& \leq \varepsilon\left(\|u\|^{p}+\|v\|^{p}\right)+\frac{2}{q}(p-q) \varepsilon^{-\frac{q}{p-q}}\left(\frac{\lambda A}{p} C^{q}\right)^{\frac{p}{p-q}}=\varepsilon\|z\|_{E}^{p}+C(\varepsilon) \lambda^{\frac{p}{p-q}}
\end{align*}
$$

where $C(\varepsilon)=2 / q(p-q) \varepsilon^{-q /(p-q)}\left(A / p C^{q}\right)^{p /(p-q)}$. Let $\left\{z_{n}\right\}$ be a $(P S)_{c}$ sequence of $I$. Using the hypotheses that $F$ is positively homogeneous of degree $p^{*}$ such that $F_{u}(0, v)=$ $F_{v}(u, 0)=0$ for all $u, v \in R^{+}$, we derive from (2.4) that

$$
\begin{aligned}
p^{*} I\left(z_{n}\right)-\left\langle I^{\prime}\left(z_{n}\right), z_{n}\right\rangle & =\left(\frac{p^{*}}{p}-1\right)\left\|z_{n}\right\|_{E}^{p}+\frac{\lambda}{q}\left(q-p^{*}\right) \int_{\Omega}\left[a_{1}(x)\left(u_{n}^{+}\right)^{q}+a_{2}(x)\left(v_{n}^{+}\right)^{q}\right] d x \\
& \geq\left(\frac{p^{*}}{p}-1-\left(p^{*}-q\right) \varepsilon\right)\left\|z_{n}\right\|_{E}^{p}-\left(p^{*}-q\right) C(\varepsilon) \lambda^{\frac{p}{p-q}}
\end{aligned}
$$

It follows that

$$
\left(\frac{p^{*}}{p}-1-\left(p^{*}-q\right) \varepsilon\right)\left\|z_{n}\right\|_{E}^{p} \leq p^{*} c+\left(p^{*}-q\right) C(\varepsilon) \lambda^{\frac{p}{p-q}}+o\left(\left\|z_{n}\right\|_{E}\right)
$$

Let $\varepsilon<\left(p^{*}-p\right) /\left(p\left(p^{*}-q\right)\right)$, we obtain $\left\{z_{n}\right\}$ is bounded in $E$.
Let

$$
S=\inf _{u \in W_{0}^{1, p}(\Omega) \backslash\{0\}} \frac{\int_{\Omega}|\nabla u|^{p} d x}{\left(\int_{\Omega}|u|^{p^{*}} d x\right)^{p / p^{*}}}
$$

denote the best Sobolev constant for the imbedding $W_{0}^{1, p}(\Omega)$ in $L^{p^{*}}(\Omega) . S$ is achieved on $\Omega=R^{N}$ by the function $W(x)=K /\left(\left(1+|x|^{p /(p-1)}\right)^{(N-p) / p^{2}}\right)$, where

$$
K=\left[N((N-p) /(p-1))^{p-1}\right]^{(N-p) / p^{2}}
$$

(see [12] or [23]). Define

$$
S_{F}:=\inf _{(u, v) \in E}\left\{\frac{\int_{\Omega}\left(|\nabla u|^{p}+|\nabla v|^{p}\right) d x}{\left(\int_{\Omega} F\left(u^{+}, v^{+}\right) d x\right)^{p / p^{*}}}: \int_{\Omega} F\left(u^{+}, v^{+}\right) d x>0\right\}
$$

We have the following lemmas.
Lemma 2.2. Assume that $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$is positively homogeneous of degree $p^{*}$ such that $F_{u}(0, v)=F_{v}(u, 0)=0$ for all $u, v \in R^{+},\left(a_{1}\right)$ and $\left(b_{1}\right)$ hold. Let $\left\{z_{n}\right\}$ be a $(P S)_{c}$ sequence of I with $z_{n} \rightharpoonup z$ in $E$ as $n \rightarrow \infty$, then there exists a positive constant $B$ depending on $p, q, N, S,\left\|a_{1}\right\|_{\Theta}$ and $\left\|a_{2}\right\|_{\Theta}$ such that

$$
I^{\prime}(z)=0 \quad \text { and } \quad I(z) \geq-B \lambda^{\frac{p}{p-q}} .
$$

Proof. Let $\left\{z_{n}\right\}=\left\{\left(u_{n}, v_{n}\right)\right\}$ be a $(P S)_{c}$ sequence of $I$ with $z_{n} \rightharpoonup z=(u, v)$ in $E$. Then we have

$$
I^{\prime}\left(z_{n}\right) \rightarrow 0, \quad \text { strongly in } E^{*} \text { as } \quad n \rightarrow \infty .
$$

Since $\left\{z_{n}\right\}$ is bounded, we can obtain a subsequence still denoted by $\left\{z_{n}\right\}$ such that

$$
\begin{cases}z_{n}=\left(u_{n}, v_{n}\right) \rightarrow(u, v)=z, & \text { in } L^{s}(\Omega) \times L^{s}(\Omega), \quad 1<s<p^{*}, \\ z_{n}=\left(u_{n}, v_{n}\right) \rightarrow(u, v)=z, & \text { a.e. in } \Omega, \\ \nabla u_{n} \rightarrow \nabla u, \quad \nabla v_{n} \rightarrow \nabla v, & \text { a.e. in } \Omega .\end{cases}
$$

Consequently, passing to the limit in $\left\langle I^{\prime}\left(z_{n}\right),(\varphi, \psi)\right\rangle$ as $n \rightarrow \infty$, and using the hypotheses of our Lemma 2.2, we have

$$
\int_{\Omega}|\nabla u|^{p-2} \nabla u \cdot \nabla \varphi d x-\lambda \int_{\Omega} a_{1}(x)\left(u^{+}\right)^{q-1} \varphi d x-\int_{\Omega} b(x) F_{u}\left(u^{+}, v^{+}\right) \varphi d x=0
$$

and

$$
\int_{\Omega}|\nabla v|^{p-2} \nabla v \cdot \nabla \psi d x-\lambda \int_{\Omega} a_{2}(x)\left(v^{+}\right)^{q-1} \psi d x-\int_{\Omega} b(x) F_{v}\left(u^{+}, v^{+}\right) \psi d x=0
$$

for all $(\varphi, \psi) \in E$, that is, $I^{\prime}(z)=0$.
In particular, we have $\left\langle I^{\prime}(z), z\right\rangle=0$, which implies from (2.1) that

$$
\|z\|_{E}^{p}=\lambda \int_{\Omega}\left[a_{1}(x)\left(u^{+}\right)^{q}+a_{2}(x)\left(v^{+}\right)^{q}\right] d x+p^{*} \int_{\Omega} b(x) F\left(u^{+}, v^{+}\right) d x .
$$

It follows that

$$
I(z)=\left(\frac{1}{p}-\frac{1}{p^{*}}\right)\|z\|_{E}^{p}-\left(\frac{1}{q}-\frac{1}{p^{*}}\right) \lambda \int_{\Omega}\left[a_{1}(x)\left(u^{+}\right)^{q}+a_{2}(x)\left(v^{+}\right)^{q}\right] d x .
$$

Using the Hölder inequality, the Young inequality and the Sobolev imbedding theorem, one has

$$
\begin{aligned}
I(z) & =\left(\frac{1}{p}-\frac{1}{p^{*}}\right)\|z\|_{E}^{p}-\left(\frac{1}{q}-\frac{1}{p^{*}}\right) \lambda \int_{\Omega}\left[a_{1}(x)\left(u^{+}\right)^{q}+a_{2}(x)\left(v^{+}\right)^{q}\right] d x \\
& \geq \frac{1}{N}\|z\|_{E}^{p}-\frac{p^{*}-q}{p^{*} q} \lambda\left(\left\|a_{1}\right\|_{\Theta}\|u\|_{p^{*}}^{q}+\left\|a_{2}\right\|_{\Theta}\|v\|_{p^{*}}^{q}\right) \\
& \geq \frac{1}{N}\|z\|_{E}^{p}-\frac{p^{*}-q}{p^{*} q} \lambda S^{-\frac{q}{p}}\left(\left\|a_{1}\right\|_{\Theta}\|u\|^{q}+\left\|a_{2}\right\|_{\Theta}\|v\|^{q}\right) \\
& \geq \frac{1}{N}\|z\|_{E}^{p}-\left(\frac{1}{N}\|z\|_{E}^{p}+B \lambda^{\frac{p}{p-q}}\right)=-B \lambda^{\frac{p}{p-q}}
\end{aligned}
$$

where $B$ is a positive constant depending on $p, q, N, S,\left\|a_{1}\right\|_{\Theta}$ and $\left\|a_{2}\right\|_{\Theta}$.
Now we introduce the following version of the Brezis-Lieb Lemma (see [4] or [5]).
Lemma 2.3. Assume that $G \in C^{1}\left(R^{2}\right)$ with $G(0,0)=0$ and $|\partial G(z) / \partial u|,|\partial G(z) / \partial v| \leq$ $C_{1}|z|^{s-1}$, some $1 \leq s<\infty$. Let $z_{n}$ be a bounded sequence in $L^{s}(\Omega) \times L^{s}(\Omega)$, and such that $z_{n} \rightharpoonup z$ a.e. $\Omega$. Then, as $n \rightarrow \infty$,

$$
\int_{\Omega} G\left(z_{n}\right) d x=\int_{\Omega} G\left(z_{n}-z\right) d x+\int_{\Omega} G(z) d x+o(1) .
$$

Lemma 2.4. Assume that $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$is positively homogeneous of degree $p^{*}$ such that $F_{u}(0, v)=F_{v}(u, 0)=0$ for all $u, v \in R^{+},\left(a_{1}\right)$ and $\left(b_{1}\right)$ hold. then I satisfies the $(P S)_{c}$ condition with $c$ satisfying

$$
c<\frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}-B \lambda^{\frac{p}{p-q}},
$$

where $B$ is the positive constant give in Lemma 2.2.
Proof. Let $\left\{z_{n}=\left(u_{n}, v_{n}\right)\right\} \subset E$ be a $(P S)_{c}$ sequence of $I$ with $c<p /(N-p)\|b\|_{\infty}^{-(N-p) / p}$ $\left(S_{F} / p^{*}\right)^{N / p}-B \lambda^{p /(p-q)}$. By Lemma 2.1, we know that $\left\{z_{n}\right\}$ is bounded. Up to a subsequence, we may assume that

$$
\begin{cases}z_{n}=\left(u_{n}, v_{n}\right) \rightarrow(u, v)=z, & \text { in } E, \\ z_{n}=\left(u_{n}, v_{n}\right) \rightarrow(u, v)=z, & \text { a.e. on } \Omega, \\ z_{n}=\left(u_{n}, v_{n}\right) \rightarrow(u, v)=z, & \text { in } L^{s}(\Omega) \times L^{s}(\Omega), \quad 1 \leq s<p^{*} .\end{cases}
$$

From Lemma 2.2, we have that $I^{\prime}(z)=0$ and

$$
\lambda \int_{\Omega}\left[a_{1}(x)\left(u_{n}^{+}\right)^{q}+a_{2}(x)\left(v_{n}^{+}\right)^{q}\right] d x=\lambda \int_{\Omega}\left[a_{1}(x)\left(u^{+}\right)^{q}+a_{2}(x)\left(v^{+}\right)^{q}\right] d x+o(1)
$$

Let $\widetilde{z}_{n}=\left(\widetilde{u}_{n}, \widetilde{v}_{n}\right)$, where $\widetilde{u}_{n}=u_{n}-u, \widetilde{v}_{n}=v_{n}-v$. From Lemma 2.3, one has

$$
\left\|\widetilde{z}_{n}\right\|_{E}^{p}=\left\|z_{n}\right\|_{E}^{p}-\|z\|_{E}^{p}+o(1) .
$$

Since $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$is positively homogeneous of degree $p^{*}$ such that $F_{u}(0, v)=$ $F_{v}(u, 0)=0$ for all $u, v \in R^{+}$, it follows from Lemma 2.3 that

$$
\int_{\Omega} F\left(\left(\widetilde{z}_{n}\right)^{+}\right) d x=\int_{\Omega} F\left(z_{n}^{+}\right) d x-\int_{\Omega} F\left(z^{+}\right) d x+o(1)
$$

which implies from $\left(b_{1}\right)$ that

$$
\int_{\Omega} b(x) F\left(\left(\widetilde{z}_{n}\right)^{+}\right) d x=\int_{\Omega} b(x) F\left(z_{n}^{+}\right) d x-\int_{\Omega} b(x) F\left(z^{+}\right) d x+o(1) .
$$

Since $I\left(z_{n}\right)=c+o(1)$ and $I^{\prime}\left(z_{n}\right)=o(1)$, we obtain

$$
\begin{equation*}
\frac{1}{p}\left\|\widetilde{z}_{n}\right\|_{E}^{p}-\int_{\Omega} b(x) F\left(\left(\widetilde{z}_{n}\right)^{+}\right) d x=c-I(z)+o(1) \tag{2.5}
\end{equation*}
$$

and

$$
\begin{equation*}
\left\|\widetilde{z}_{n}\right\|_{E}^{p}-p^{*} \int_{\Omega} b(x) F\left(\left(\widetilde{z}_{n}\right)^{+}\right) d x=o(1) \tag{2.6}
\end{equation*}
$$

From (2.6), we may assume that

$$
\left\|\widetilde{z}_{n}\right\|_{E}^{p} \rightarrow p^{*} l, \quad \int_{\Omega} b(x) F\left(\left(\widetilde{z}_{n}\right)^{+}\right) d x \rightarrow l
$$

Assume that $l>0$, by the definition of $S_{F}$, we have

$$
\begin{aligned}
\left\|\widetilde{z}_{n}\right\|_{E}^{p} & \geq S_{F}\left(\int_{\Omega} F\left(\left(\widetilde{z}_{n}\right)^{+}\right) d x\right)^{\frac{p}{p^{*}}} \geq S_{F}\left(\int_{\Omega} \frac{b(x)}{\|b\|_{\infty}} F\left(\left(\widetilde{z}_{n}\right)^{+}\right) d x\right)^{\frac{p}{p^{*}}} \\
& =S_{F}\|b\|_{\infty}^{-\frac{N-p}{N}}\left(\int_{\Omega} b(x) F\left(\left(\widetilde{z}_{n}\right)^{+}\right) d x\right)^{\frac{p}{p^{*}}}
\end{aligned}
$$

As $n \rightarrow \infty$, we deduce that

$$
l \geq\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}
$$

It follows from (2.5) and Lemma 2.2 that

$$
c=\left(\frac{p^{*}}{p}-1\right) l+I(z) \geq \frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}-B \lambda^{\frac{p}{p-q}}
$$

which contradicts the fact $c<p /(N-p)\|b\|_{\infty}^{-(N-p) / p}\left(S_{F} / p^{*}\right)^{N / p}-B \lambda^{p /(p-q)}$. Therefore, we have $l=0$, which implies that

$$
z_{n} \rightarrow z \quad \text { in } E .
$$

Hence $I$ satisfies the $(P S)_{c}$ condition with

$$
c<p /(N-p)\|b\|_{\infty}^{-(N-p) / p}\left(S_{F} / p^{*}\right)^{N / p}-B \lambda^{p /(p-q)} .
$$

## 3. The existence of solutions for problem (1.1)

In this section, we show that there exists $\Lambda>0$ such that problem (1.1) has a nontrivial nonnegative or positive solution $z_{\lambda}=\left(u_{\lambda}, \nu_{\lambda}\right)$ with $I\left(z_{\lambda}\right)<0$ for any $\lambda \in(0, \Lambda)$. More precisely, we prove our Theorem 1.1 by the Ekeland's variational principal.

Lemma 3.1. Let $r, s>1, g \in L^{s}(\Omega)$ and $g^{+}=\max \{g(x), 0\} \neq 0$. Then there exists $w_{0} \in$ $C_{0}^{\infty}(\Omega)$ such that $\int_{\Omega} g(x)\left(w_{0}^{+}\right)^{r} d x>0$.
Proof. Set $s_{1}=(r s) /(s-1)$. Define

$$
\chi_{g}= \begin{cases}1, & \text { in }\{x \mid x \in \Omega, g(x)>0\} \\ 0, & \text { in }\{x \mid x \in \Omega, g(x) \leq 0\}\end{cases}
$$

Since $C_{0}^{\infty}(\Omega)$ is dense in $L^{s_{1}}(\Omega)$, there exist $\left\{w_{n}\right\} \subset C_{0}^{\infty}(\Omega)$ such that

$$
w_{n} \rightarrow \chi_{g} \quad \text { in } \quad L^{s_{1}}(\Omega)
$$

which implies that

$$
\begin{equation*}
w_{n}^{+} \rightarrow \chi_{g}^{+}=\chi_{g} \quad \text { in } L^{s_{1}}(\Omega) \tag{3.1}
\end{equation*}
$$

It follows from (3.1) and $g^{+} \neq 0$ that

$$
\begin{equation*}
\int_{\Omega} g(x)\left(w_{n}^{+}\right)^{r} d x \rightarrow \int_{\Omega} g(x) \chi_{g}^{r} d x=\int_{\Omega} g^{+} d x>0, \quad \text { as } n \rightarrow \infty . \tag{3.2}
\end{equation*}
$$

Indeed, in view of $r>1$, there is a positive integer $m$ such that $0<r-m \leq 1$. In addition, it is obvious to obtain the following inequality

$$
(a+b)^{r-m} \leq a^{r-m}+b^{r-m}, \quad \text { for any } a \geq 0, b \geq 0
$$

By the above inequality and the Hölder inequality, we have

$$
\begin{aligned}
& \left|\int_{\Omega^{2}} g(x)\left[\left(w_{n}^{+}\right)^{r}-\chi_{g}^{r}\right] d x\right| \\
& \leq \sum_{i=1}^{m-1}\left|\int_{\Omega} g(x)\left(w_{n}^{+}\right)^{r-i} \chi_{g}^{i-1}\left(w_{n}^{+}-\chi_{g}\right) d x\right|+\left|\int_{\Omega} g(x) \chi_{g}^{m}\left[\left(w_{n}^{+}\right)^{r-m}-\chi_{g}^{r-m}\right] d x\right| \\
& \leq \sum_{i=1}^{m-1}\|g\|_{s}\left\|w_{n}^{+}\right\|_{s_{1}}^{r-i}\left\|\chi_{g}\right\|_{s_{1}}^{i-1}\left\|w_{n}^{+}-\chi_{g}\right\|_{s_{1}}+\int_{\Omega}|g(x)| \chi_{g}^{m}\left|w_{n}^{+}-\chi_{g}\right|^{r-m} d x \\
& \leq \sum_{i=1}^{m-1}\|g\|_{s}\left\|w_{n}^{+}\right\|_{s_{1}}^{r-i}\left\|\chi_{g}\right\|_{s_{1}}^{i-1}\left\|w_{n}^{+}-\chi_{g}\right\|_{s_{1}}+\|g\|_{s}\left\|\chi_{g}\right\|_{s_{1}}^{m}\left\|w_{n}^{+}-\chi_{g}\right\|_{s_{1}}^{r-m}
\end{aligned}
$$

which implies that (3.2) holds. It follows from (3.2) that there exists $w_{0} \in C_{0}^{\infty}(\Omega)$ such that $\int_{\Omega} g(x)\left(w_{0}^{+}\right)^{r} d x>0$.

Proof of Theorem 1.1. According to the hypothesis $\left(a_{1}\right)$, we obtain that (2.4) holds. From (2.2)-(2.4), we deduce that

$$
\begin{aligned}
I(z) & \geq\left(\frac{1}{p}-\varepsilon\right)\|z\|_{E}^{p}-C(\varepsilon) \lambda^{\frac{p}{p-q}}-2^{\frac{p^{*}}{p}} M\|b\|_{\infty}\left(\|u\|_{p^{*}}^{p^{*}}+\|v\|_{p^{*}}^{p^{*}}\right) \\
& \geq\left(\frac{1}{p}-\varepsilon\right)\|z\|_{E}^{p}-2^{\frac{p^{*}}{p}} C^{p^{*}} M\|b\|_{\infty}\|z\|_{E}^{p^{*}}-C(\varepsilon) \lambda^{\frac{p}{p-q}}
\end{aligned}
$$

Let $\varepsilon<1 / p$, we can find $\rho>0$ and $\Lambda_{1}>0$ such that

$$
\begin{equation*}
I(z)>0 \quad \text { if } \quad\|z\|_{E}=\rho \quad \text { and } \quad I(z)>-C_{2} \quad \text { if } \quad\|z\|_{E} \leq \rho \tag{3.3}
\end{equation*}
$$

for any $\lambda \in\left(0, \Lambda_{1}\right)$, where $C_{2}=C(\varepsilon) \lambda^{p /(p-q)}$.
From Lemma 3.1, we obtain that there exist $\varphi_{0}, \psi_{0} \in C_{0}^{\infty}(\Omega) \subset W_{0}^{1, p}(\Omega)$ such that

$$
\begin{equation*}
\int_{\Omega} a_{1}(x)\left(\varphi_{0}^{+}\right)^{q} d x>0, \quad \int_{\Omega} a_{2}(x)\left(\psi_{0}^{+}\right)^{q} d x>0 \tag{3.4}
\end{equation*}
$$

Therefore, one has

$$
\begin{aligned}
I\left(k \varphi_{0}, k \psi_{0}\right)= & \frac{1}{p} k^{p} \int_{\Omega}\left(\left|\nabla \varphi_{0}\right|^{p}+\left|\nabla \psi_{0}\right|^{p}\right) d x-\frac{\lambda}{q} k^{q} \int_{\Omega}\left[a_{1}(x)\left(\varphi_{0}^{+}\right)^{q}+a_{2}(x)\left(\psi_{0}^{+}\right)^{q}\right] d x \\
& -k^{p^{*}} \int_{\Omega} b(x) F\left(\varphi_{0}^{+}, \psi_{0}^{+}\right) d x \\
\leq & \frac{1}{p} k^{p} \int_{\Omega}\left(\left|\nabla \varphi_{0}\right|^{p}+\left|\nabla \psi_{0}\right|^{p}\right) d x-\frac{\lambda}{q} k^{q} \int_{\Omega}\left[a_{1}(x)\left(\varphi_{0}^{+}\right)^{q}+a_{2}(x)\left(\psi_{0}^{+}\right)^{q}\right] d x+C_{3} k^{p^{*}},
\end{aligned}
$$

where $C_{3}=\|b\|_{\infty} \int_{\Omega} F\left(\varphi_{0}^{+}, \psi_{0}^{+}\right) d x+1>0$. Fix $\lambda \in\left(0, \Lambda_{1}\right)$, noticing that $p>q>1$, it implies from (3.4) that there exists $k=k(\lambda)>0$ small enough such that

$$
I\left(k \varphi_{0}, k \psi_{0}\right)<0
$$

Thus we deduce that

$$
c_{\lambda}=\inf _{z \in B_{\rho}(0)} I(z)<0<\inf _{z \in \partial B_{\rho}(0)} I(z) .
$$

By applying the Ekeland's variational principle in $\overline{B_{\rho}(0)}$ (see [13]), we obtain that there exists a $(P S)_{c_{\lambda}}$ sequence $\left\{z_{n}\right\}=\left\{\left(u_{n}, v_{n}\right)\right\} \subset \overline{B_{\rho}(0)}$ with $c_{\lambda}$.

According to (2.2) and the Minkowski inequality, we have

$$
\begin{aligned}
\left(\int_{\Omega} F\left(u^{+}, v^{+}\right) d x\right)^{\frac{p}{p^{*}}} & \leq M^{\frac{p}{p^{*}}}\left(\int_{\Omega}|z|^{\left.\right|^{*}} d x\right)^{\frac{p}{p^{*}}} \leq M^{\frac{p}{p^{*}}}\left[\left(\int_{\Omega} u^{p^{*}} d x\right)^{\frac{p}{p^{*}}}+\left(\int_{\Omega} v^{p^{*}} d x\right)^{\frac{p}{p^{*}}}\right] \\
& \leq M^{\frac{p}{p^{*}}} \frac{1}{S} \int_{\Omega}\left(|\nabla u|^{p}+|\nabla v|^{p}\right) d x .
\end{aligned}
$$

It implies that

$$
\begin{equation*}
S_{F} \geq S M^{-\frac{p}{p^{*}}}>0 \tag{3.5}
\end{equation*}
$$

Hence we can choose $0<\Lambda<\Lambda_{1}$ such that

$$
0<\frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}-B \lambda^{\frac{p}{p-q}}, \quad \forall \lambda \in(0, \Lambda) .
$$

It follows from $c_{\lambda}<0$ and Lemma 2.4 that $I$ satisfies the $(P S)_{c_{\lambda}}$ condition. Therefore, one has a subsequence still denoted by $\left\{z_{n}\right\}$ and $z_{\lambda}=\left(u_{\lambda}, v_{\lambda}\right) \in E$ such that $z_{n} \rightarrow z_{\lambda}$ in $E$ and

$$
I\left(z_{\lambda}\right)=c_{\lambda}, \quad I^{\prime}\left(z_{\lambda}\right)=0
$$

which implies that $z_{\lambda}$ is a solution of problem (1.1). Using the hypothesis that $F_{u}\left(0, v^{+}\right)=$ $F_{v}\left(u^{+}, 0\right)=0$ for any $(u, v) \in E$, after a direct calculation, we derive that

$$
\left\|u_{\lambda}^{-}\right\|^{p}=\left\langle I_{u}^{\prime}\left(u_{\lambda}, v_{\lambda}\right),-u_{\lambda}^{-}\right\rangle=0, \quad \text { and } \quad\left\|v_{\lambda}^{-}\right\|^{p}=\left\langle I_{v}^{\prime}\left(u_{\lambda}, v_{\lambda}\right),-v_{\lambda}^{-}\right\rangle=0
$$

which implies that $u_{\lambda}^{-}=0$ and $v_{\lambda}^{-}=0$. Hence we have $u_{\lambda} \geq 0$ and $v_{\lambda} \geq 0$.
Now we show that $u_{\lambda} \neq 0$ and $v_{\lambda} \neq 0$. Since $I\left(z_{\lambda}\right)=c_{\lambda}<0=I(0,0)$, we have $u_{\lambda} \neq 0$ or $v_{\lambda} \neq 0$. Without loss of generality, we may assume that $u_{\lambda} \neq 0$ and $v_{\lambda}=0$. Then, for any $\lambda \in(0, \Lambda)$, we have

$$
\begin{align*}
I\left(t u_{\lambda}, t \psi_{0}^{+}\right)= & \frac{1}{p} t^{p} \int_{\Omega}\left|\nabla u_{\lambda}\right|^{p} d x-\frac{\lambda}{q} t^{q} \int_{\Omega} a_{1}(x) u_{\lambda}^{q} d x+\frac{1}{p} t^{p} \int_{\Omega}\left|\nabla \psi_{0}^{+}\right|^{p} d x \\
& -\frac{\lambda}{q} t^{q} \int_{\Omega} a_{2}(x)\left(\psi_{0}^{+}\right)^{q} d x-t^{p^{*}} \int_{\Omega} b(x) F\left(u_{\lambda}, \psi_{0}^{+}\right) d x \tag{3.6}
\end{align*}
$$

Since $\left(u_{\lambda}, 0\right)$ is a critical point of $I$ with $I\left(u_{\lambda}, 0\right)=c_{\lambda}$, it follows from (2.1) that

$$
\int_{\Omega}\left|\nabla u_{\lambda}\right|^{p} d x-\lambda \int_{\Omega} a_{1}(x) u_{\lambda}^{q} d x-p^{*} \int_{\Omega} b(x) F\left(u_{\lambda}, 0\right) d x=\left\langle I_{u}^{\prime}\left(u_{\lambda}, 0\right), u_{\lambda}\right\rangle=0
$$

which implies that

$$
c_{\lambda}=I\left(u_{\lambda}, 0\right)=\frac{p^{*}-p}{p p^{*}} \int_{\Omega}\left|\nabla u_{\lambda}\right|^{p} d x-\frac{p^{*}-q}{q p^{*}} \lambda \int_{\Omega} a_{1}(x) u_{\lambda}^{q} d x .
$$

Let $t_{1}=\min \left\{\left(\left(p^{*}-p\right) /\left(p^{*}-q\right)\right)^{1 /(p-q)},\left(\left(p^{*}-q\right) / p^{*}\right)^{1 / q}\right\}$, for any $t \in\left(0, t_{1}\right)$, we have

$$
\begin{align*}
& \frac{1}{p} t^{p} \int_{\Omega}\left|\nabla u_{\lambda}\right|^{p} d x-\frac{\lambda}{q} t^{q} \int_{\Omega} a_{1}(x) u_{\lambda}^{q} d x \\
& =\frac{p^{*}}{p^{*}-q} t^{q}\left(\frac{p^{*}-q}{p p^{*}} t^{p-q} \int_{\Omega}\left|\nabla u_{\lambda}\right|^{p} d x-\frac{p^{*}-q}{q p^{*}} \lambda \int_{\Omega} a_{1}(x) u_{\lambda}^{q} d x\right)  \tag{3.7}\\
& <\frac{p^{*}}{p^{*}-q} t^{q}\left(\frac{p^{*}-p}{p p^{*}} \int_{\Omega}\left|\nabla u_{\lambda}\right|^{p} d x-\frac{p^{*}-q}{q p^{*}} \lambda \int_{\Omega} a_{1}(x) u_{\lambda}^{q} d x\right)=\frac{p^{*}}{p^{*}-q} c_{\lambda} t^{q}<c_{\lambda} .
\end{align*}
$$

According to $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$and (3.4), there exists $t_{2}>0$ such that for any $t \in\left(0, t_{2}\right)$

$$
\begin{align*}
& \frac{1}{p} t^{p} \int_{\Omega}\left|\nabla \psi_{0}^{+}\right|^{p} d x-\frac{\lambda}{q} t^{q} \int_{\Omega} a_{2}(x)\left(\psi_{0}^{+}\right)^{q} d x-t^{p^{*}} \int_{\Omega} b(x) F\left(u_{\lambda}, \psi_{0}^{+}\right) d x \\
& \leq \frac{1}{p} t^{p} \int_{\Omega}\left|\nabla \psi_{0}^{+}\right|^{p} d x-\frac{\lambda}{q} t^{q} \int_{\Omega} a_{2}(x)\left(\psi_{0}^{+}\right)^{q} d x+C_{4} t^{p^{*}}<0 \tag{3.8}
\end{align*}
$$

where $C_{4}=\|b\|_{\infty} \int_{\Omega} F\left(u_{\lambda}, \psi_{0}^{+}\right) d x+1>0$. Let $t_{3}=\min \left\{t_{1}, t_{2}\right\}$, from (3.6)-(3.8), for any $t \in\left(0, t_{3}\right)$, we obtain that

$$
I\left(t u_{\lambda}, t \psi_{0}^{+}\right)<c_{\lambda}
$$

Noticing that $\left(u_{\lambda}, 0\right) \in B_{\rho}(0)$, thus we can choose $t$ so small that $\left(u_{\lambda}, t \psi_{0}^{+}\right) \in B_{\rho}(0)$. Hence we obtain

$$
\inf _{z \in B_{\rho}(0)} I(z)<c_{\lambda}
$$

which is a contradiction with $c_{\lambda}=\inf _{z \in B_{\rho}(0)} I(z)$. Therefore, we have $u_{\lambda} \neq 0$ and $v_{\lambda}=0$ are not established. Similarly, we obtain $u_{\lambda}=0$ and $v_{\lambda} \neq 0$ are impossible. Hence we have $u_{\lambda} \neq 0$ and $v_{\lambda} \neq 0$.

Moreover, if $a_{i}(x) \geq 0(i=1,2)$ and $b(x) \geq 0$, it follows that $-\triangle_{p} u_{\lambda} \geq 0$. By the maximum principle (see [25]), we obtain $u_{\lambda}>0$ in $\Omega$. Similarly, we have $v_{\lambda}>0$ in $\Omega$. The proof of Theorem 1.1 is completed.

## 4. The multiplicity of solutions for problem (1.1)

In this section, we shall use the mountain pass theorem to obtain the second nontrivial nonnegative or positive solution of problem (1.1).
Lemma 4.1. Let $1<p<N,(N(p-1)) /(N-p)<q<p,\left(a_{1}\right),\left(a_{2}\right),\left(b_{1}\right),\left(b_{2}\right)$ and $\left(b_{3}\right)$ hold. Assume that $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$is positively homogeneous of degree $p^{*}$. Then there exist a nonnegative function $z \in E$ and $\Lambda^{*}>0$ such that

$$
\sup _{t \geq 0} I(t z)<\frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}-B \lambda^{\frac{p}{p-q}} \quad \text { for all } \quad 0<\lambda<\Lambda^{*}
$$

where $B$ is the positive constant give in Lemma 2.2.
Proof. For convenience, we consider the functional $J: E \rightarrow R$ defined by

$$
J(u, v)=\frac{1}{p} \int_{\Omega}\left(|\nabla u|^{p}+|\nabla v|^{p}\right) d x-\int_{\Omega} b(x) F\left(u^{+}, v^{+}\right) d x \quad \text { for all } \quad(u, v) \in E .
$$

According to $\left(b_{2}\right)$ and $\left(b_{3}\right)$, we can choose such a cut-off function $\phi(x) \in C_{0}^{\infty}(\Omega)$ that $\phi(x)=$ 1 for $x \in B\left(x_{0}, \delta_{0}\right), \phi(x)=0$ for $x \in R^{N} \backslash B\left(x_{0}, 2 \delta_{0}\right), 0 \leq \phi(x) \leq 1$ and $|\nabla \phi| \leq C_{5}$, where $C_{5}>0$ is a positive constant. Define

$$
u_{\eta}(x)=\frac{\eta^{\frac{N-p}{p(p-1)}} \phi(x)}{\left(\eta^{\frac{p}{p-1}}+\left|x-x_{0}\right|^{\frac{p}{p-1}}\right)^{\frac{N-p}{p}}} .
$$

After a detailed calculation, we have the following estimate( as $\eta \rightarrow 0$ )

$$
\begin{equation*}
\frac{\int_{\Omega}\left|\nabla u_{\eta}\right|^{p} d x}{\left(\int_{\Omega}\left|u_{\eta}\right| p^{*} d x\right)^{p / p^{*}}}=S+O\left(\eta^{\frac{N-p}{p-1}}\right) \tag{4.1}
\end{equation*}
$$

Now we show that the above estimate is valid. Indeed, we have

$$
\nabla u_{\eta}(x)=\eta^{\frac{N-p}{p(p-1)}}\left(\frac{\nabla \phi(x)}{\left(\eta^{\frac{p}{p-1}}+\left|x-x_{0}\right|^{\frac{p}{p-1}}\right)^{\frac{N-p}{p}}}-\frac{N-p}{p-1} \frac{\phi(x)\left|x-x_{0}\right|^{\frac{2-p}{p-1} x}}{\left(\eta^{\frac{p}{p-1}}+\left|x-x_{0}\right|^{\frac{p}{p-1}}\right)^{\frac{N}{p}}}\right)
$$

Since $\phi(x) \equiv 1$ in $B\left(x_{0}, \delta_{0}\right)$ and $|\nabla \phi| \leq C_{5}$, let $x=x_{0}+\eta y$, one has

$$
\begin{aligned}
\int_{\Omega}\left|\nabla u_{\eta}\right|^{p} d x & =\eta^{\frac{N-p}{p-1}} \int_{\Omega} \frac{\left|x-x_{0}\right|^{p /(p-1)}}{\left(\eta^{p /(p-1)}+\left|x-x_{0}\right|^{p /(p-1)}\right)^{N}} d x+O\left(\eta^{\frac{N-p}{p-1}}\right) \\
& =\eta^{\frac{N-p}{p-1}} \int_{R^{N}} \frac{\left|x-x_{0}\right|^{p /(p-1)}}{\left(\eta^{p /(p-1)}+\left|x-x_{0}\right|^{p /(p-1)}\right)^{N}} d x+O\left(\eta^{\frac{N-p}{p-1}}\right)
\end{aligned}
$$

$$
=\int_{R^{N}} \frac{|y|^{p /(p-1)}}{\left(1+|y|^{p /(p-1)}\right)^{N}} d y+O\left(\eta^{\frac{N-p}{p-1}}\right)=|\nabla U|_{L^{p}\left(R^{N}\right)}^{p}+O\left(\eta^{\frac{N-p}{p-1}}\right)
$$

and

$$
\begin{aligned}
\int_{\Omega}\left|u_{\eta}\right|^{p^{*}} d x & =\eta^{\frac{N}{p-1}} \int_{\Omega} \frac{\phi^{p^{*}} d x}{\left(\eta^{p /(p-1)}+\left|x-x_{0}\right|^{p /(p-1)}\right)^{N}} \\
& =\eta^{\frac{N}{p-1}} \int_{B\left(x_{0}, \delta_{0}\right)} \frac{d x}{\left(\eta^{p /(p-1)}+\left|x-x_{0}\right|^{p /(p-1)}\right)^{N}}+O\left(\eta^{\frac{N}{p-1}}\right) \\
& =\eta^{\frac{N}{p-1}} \int_{R^{N}} \frac{d x}{\left(\eta^{p /(p-1)}+\left|x-x_{0}\right|^{p /(p-1)}\right)^{N}}+O\left(\eta^{\frac{N}{p-1}}\right) \\
& =\int_{R^{N}} \frac{d y}{\left(1+|y|^{p /(p-1)}\right)^{N}}+O\left(\eta^{\frac{N}{p-1}}\right)=|U|_{L^{p^{*}}\left(R^{N}\right)}^{p^{*}}+O\left(\eta^{\frac{N}{p-1}}\right)
\end{aligned}
$$

where $U(x)=\left(1+|x|^{p /(p-1)}\right)^{-(N-p) / p} \in W^{1, p}\left(R^{N}\right)$ satisfies

$$
\frac{|\nabla U|_{L^{p}\left(R^{N}\right)}^{p}}{|U|_{L^{p^{*}}\left(R^{N}\right)}^{p}}=S=\inf _{u \in W^{1, p}\left(R^{N}\right) \backslash\{0\}} \frac{|\nabla u|_{L^{p}\left(R^{N}\right)}^{p}}{|u|_{L^{p^{*}}\left(R^{N}\right)}^{p}} .
$$

A direct calculation, we deduce that (4.1) holds.
Since $F$ is positively homogeneous of degree $p^{*}$, we have (2.1) and (2.2) hold. It follows from $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$and (2.2) that there exists $\left(e_{1}, e_{2}\right) \in\left\{z \in\left(R^{+}\right)^{2}:|z|=1\right\}$ such that $F\left(e_{1}, e_{2}\right)=M$. Define

$$
h(t)=J\left(t e_{1} u_{\eta}, t e_{2} u_{\eta}\right)=\frac{1}{p} t^{p} \int_{\Omega}\left|\nabla u_{\eta}\right|^{p} d x-M t^{p^{*}} \int_{\Omega} b(x)\left|u_{\eta}\right|^{p^{*}} d x \quad \text { for all } \quad t \geq 0 .
$$

Assume that $h(t)$ attains its maximum at a point $t_{\eta}$. According to

$$
0=h^{\prime}\left(t_{\eta}\right)=t_{\eta}^{p-1}\left(\int_{\Omega}\left|\nabla u_{\eta}\right|^{p} d x-p^{*} M t_{\eta}^{p^{*}-p} \int_{\Omega} b(x)\left|u_{\eta}\right|^{p^{*}} d x\right)
$$

one has

$$
t_{\eta}^{p^{*}-p}=\frac{\int_{\Omega}\left|\nabla u_{\eta}\right|^{p} d x}{p^{*} M \int_{\Omega} b(x)\left|u_{\eta}\right|^{p^{*}} d x} .
$$

Using the definition of $u_{\eta}$ and $\left(b_{2}\right)$, we obtain $t_{\eta}<\infty$. We also have

$$
\begin{equation*}
\sup _{t \geq 0} J\left(t e_{1} u_{\eta}, t e_{2} u_{\eta}\right)=J\left(t_{\eta} e_{1} u_{\eta}, t_{\eta} e_{2} u_{\eta}\right)=\Phi(\eta)+\Psi(\eta) \tag{4.2}
\end{equation*}
$$

where

$$
\begin{gathered}
\Phi(\eta)=\frac{1}{p} t_{\eta}^{p} \int_{\Omega}\left|\nabla u_{\eta}\right|^{p} d x-M\|b\|_{\infty} t_{\eta}^{p^{*}} \int_{\Omega}\left|u_{\eta}\right|^{p^{*}} d x \\
\Psi(\eta)=M t_{\eta}^{p^{*}} \int_{\Omega}\left(\|b\|_{\infty}-b(x)\right)\left|u_{\eta}\right|^{p^{*}} d x
\end{gathered}
$$

Using the fact

$$
\max _{t \geq 0}\left(\frac{\alpha}{p} t^{p}-\frac{\beta}{p^{*}} t^{p^{*}}\right)=\frac{1}{N}\left(\frac{\alpha}{\beta^{p / p^{*}}}\right)^{\frac{N}{p}} \quad \text { for any } \quad \alpha, \beta>0
$$

we deduce from (3.5) and (4.1) that

$$
\begin{align*}
\Phi(\eta) & \leq \frac{1}{N}\left(M\|b\|_{\infty}\right)^{-\frac{N-p}{p}}\left[\frac{\int_{\Omega}\left|\nabla u_{\eta}\right|^{p} d x}{\left(\int_{\Omega}\left|u_{\eta}\right|^{p^{*}} d x\right)^{p / p^{*}}}\right]^{\frac{N}{p}} \\
& =\frac{1}{N}\left(M\|b\|_{\infty}\right)^{-\frac{N-p}{p}} S^{\frac{N}{p}}+O\left(\eta^{\frac{N-p}{p-1}}\right)  \tag{4.3}\\
& \leq \frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}+O\left(\eta^{\frac{N-p}{p-1}}\right) .
\end{align*}
$$

It follows from $\left(b_{3}\right)$ that there exists $\rho_{0} \in\left(0, \delta_{0}\right)$ such that

$$
0 \leq b\left(x_{0}\right)-b(x) \leq\left|x-x_{0}\right|^{k} \quad \text { for all } \quad x \in B\left(x_{0}, \rho_{0}\right)
$$

From $k>\frac{N-p}{p-1}$, noticing that $t_{\eta}<\infty$, we have

$$
\begin{aligned}
\Psi(\eta)= & M t_{\eta}^{p^{*}} \eta^{\frac{N}{p-1}} \int_{\Omega} \frac{\left(\|b\|_{\infty}-b(x)\right) \phi^{p^{*}}}{\left(\eta^{p /(p-1)}+\left|x-x_{0}\right|^{p /(p-1)}\right)^{N}} d x \\
\leq & M t_{\eta}^{p^{*}} \eta^{\frac{N}{p-1}} \int_{R^{N} \backslash B\left(x_{0}, \rho_{0}\right)} \frac{\|b\|_{\infty} d x}{\left(\eta^{p /(p-1)}+\left|x-x_{0}\right|^{p /(p-1)}\right)^{N}} \\
& +M t_{\eta}^{p^{*}} \eta^{\frac{N}{p-1}} \int_{B\left(x_{0}, \rho_{0}\right)} \frac{\left|x-x_{0}\right|^{k} d x}{\left(\eta^{p /(p-1)}+\left|x-x_{0}\right|^{p /(p-1)}\right)^{N}} \\
\leq & M t_{\eta}^{p^{*}}\|b\|_{\infty} \eta^{\frac{N}{p-1}} \int_{R^{N} \backslash B\left(x_{0}, \rho_{0}\right)}\left|x-x_{0}\right|^{-\frac{p N}{p-1}} d x \\
& +\frac{M}{N} t_{\eta}^{p^{*}} \eta^{\frac{N-p}{p-1}} \int_{B\left(x_{0}, \rho_{0}\right)}\left|x-x_{0}\right|^{k-\frac{p(N-1)}{p-1}} d x \\
= & M N \omega_{N} t_{\eta}^{p^{*}}\|b\|_{\infty} \eta^{\frac{N}{p-1}} \int_{\rho_{0}}^{+\infty} r^{-\frac{N}{p-1}-1} d r+M \omega_{N} t_{\eta}^{p^{*}} \eta^{\frac{N-p}{p-1}} \int_{0}^{\rho_{0}} r^{k-1-\frac{N-p}{p-1}} d r \\
= & M(p-1) \omega_{N} t_{\eta}^{p^{*}}\|b\|_{\infty} \rho_{0}^{-\frac{N}{p-1}} \eta^{\frac{N}{p-1}}+\frac{M(p-1) \omega_{N}}{k(p-1)-N+p} t_{\eta}^{p^{*}} \rho_{0}^{k-\frac{N-p}{p-1}} \eta^{\frac{N-p}{p-1}} \\
= & O\left(\eta^{\frac{N-p}{p-1}}\right),
\end{aligned}
$$

where $\omega_{N}=\left(2 \pi^{N / 2}\right) /(N \Gamma(N / 2))$ denotes the volume of the unit ball $B(0,1)$ in $R^{N}$. From (4.2) - (4.4), we have

$$
\begin{equation*}
\sup _{t \geq 0} J\left(t e_{1} u_{\eta}, t e_{2} u_{\eta}\right) \leq \frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}+O\left(\eta^{\frac{N-p}{p-1}}\right) \tag{4.5}
\end{equation*}
$$

By the inequality (3.5), we can choose $\delta_{1}$ such that

$$
\frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}-B \lambda^{\frac{p}{p-q}}>0, \quad \forall \lambda \in\left(0, \delta_{1}\right) .
$$

Using the definitions of $I$ and $u_{\eta}$, from $\left(a_{2}\right)$ and $\left(b_{2}\right)$, we have

$$
I\left(t e_{1} u_{\eta}, t e_{2} u_{\eta}\right) \leq \frac{1}{p} t^{p} \int_{\Omega}\left|\nabla u_{\eta}\right|^{p} d x=\frac{1}{p} t^{p}\left[|\nabla U|_{L^{p}\left(R^{N}\right)}^{p}+O\left(\eta^{\frac{N-p}{p-1}}\right)\right]
$$

for all $t \geq 0$ and $\lambda>0$. It follows from (3.5) and (4.1) that there exist $T \in(0,1)$ and $\eta_{1}>0$ such that for all $0<\lambda<\delta_{1}$ and $0<\eta<\eta_{1}$

$$
\begin{equation*}
\sup _{0 \leq t \leq T} I\left(t e_{1} u_{\eta}, t e_{2} u_{\eta}\right) \leq \frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}-B \lambda^{\frac{p}{p-q}} . \tag{4.6}
\end{equation*}
$$

Moreover, using the definitions of $I$ and $u_{\eta}$, it follows from $\left(a_{2}\right)$ and (4.5) that

$$
\begin{aligned}
\sup _{t \geq T} I\left(t e_{1} u_{\eta}, t e_{2} u_{\eta}\right) & =\sup _{t \geq T}\left(J\left(t e_{1} u_{\eta}, t e_{2} u_{\eta}\right)-\frac{\lambda}{q} t^{q} \int_{\Omega}\left[a_{1}(x)+a_{2}(x)\right]\left|u_{\eta}\right|^{q} d x\right) \\
& \leq \frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}+O\left(\eta^{\frac{N-p}{p-1}}\right)-\frac{2 \lambda \beta_{0} T^{q}}{q} \int_{B\left(x_{0}, \delta_{0}\right)}\left|u_{\eta}\right|^{q} d x .
\end{aligned}
$$

By the Lemma $A 5$ of [15], it implies from $N(p-1) / N-p<q<p<N$ that

$$
\int_{B\left(x_{0}, \delta_{0}\right)}\left|u_{\eta}\right|^{q} d x \geq C_{6} \eta^{\frac{N(p-q)+p q}{p}} .
$$

By the above two inequalities, we have
(4.7) $\sup _{t \geq T} I\left(t e_{1} u_{\eta}, t e_{2} u_{\eta}\right) \leq \frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}+O\left(\eta^{\frac{N-p}{p-1}}\right)-\frac{2 C_{6} \lambda \beta_{0} T^{q}}{q} \eta^{\frac{N(p-q)+p q}{p}}$.

By the hypothesis $N(p-1) / N-p<q<p<N$, we obtain $((N-p)(p-q)) /(p(N-N p+$ $N q-p q))>0$. For some positive constants $C_{7}$ and $C_{8}$, let $\eta=\lambda^{(p(p-1)) /((p-q)(N-p))}$ and $\lambda<\left(C_{8} /\left(B+C_{7}\right)\right)^{((N-p)(p-q)) /(p(N-N p+N q-p q))}$, we have

$$
C_{7} \eta^{\frac{N-p}{p-1}}-C_{8} \lambda \eta^{\frac{N(p-q)+p q}{p}}=C_{7} \lambda^{\frac{p}{p-q}}-C_{8} \lambda^{\frac{(N p-N q+p q-p) p}{(N-p)(p-q)}}<-B \lambda^{\frac{p}{p-q}},
$$

which implies that there exists $\delta_{2}>0$ such that for all $\eta=\lambda^{(p(p-1)) /((p-q)(N-p))}$ and $\lambda<\delta_{2}$

$$
\begin{equation*}
O\left(\eta^{\frac{N-p}{p-1}}\right)-\frac{2 C_{6} \lambda \beta_{0} T^{q}}{q} \eta^{\frac{N(p-q)+p q}{p}}<-B \lambda^{\frac{p}{p-q}} . \tag{4.8}
\end{equation*}
$$

From (4.7) and (4.8), for all $\eta=\lambda^{(p(p-1)) /((p-q)(N-p))}$ and $\lambda<\delta_{2}$, one has

$$
\begin{equation*}
\sup _{t \geq T} I\left(t e_{1} u_{\eta}, t e_{2} u_{\eta}\right) \leq \frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}-B \lambda^{\frac{p}{p-q}} . \tag{4.9}
\end{equation*}
$$

Set $\Lambda^{*}=\min \left\{\delta_{1}, \delta_{2}, \eta_{1}^{((N-p)(p-q)) /(p(p-1))}\right\}$. Combining (4.6) with (4.9), for all $\eta=$ $\lambda^{(p(p-1)) /((p-q)(N-p))}$ and $\lambda \in\left(0, \Lambda^{*}\right)$, we obtain

$$
\sup _{t \geq 0} I\left(t e_{1} u_{\eta}, t e_{2} u_{\eta}\right) \leq \frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}-B \lambda^{\frac{p}{p-q}} .
$$

Proof of Theorem 1.2. Choose $\lambda^{*} \leq \Lambda$, from the proof of Theorem 1.1, we have already obtained that problem (1.1) has a nontrivial nonnegative solution $z_{\lambda}$ with $I\left(z_{\lambda}\right)<0$ for any $\lambda \in\left(0, \lambda^{*}\right)$. Now we only need to prove that problem (1.1) has a nontrivial nonnegative solution $\bar{z}_{\lambda}$ with $I\left(\bar{z}_{\lambda}\right)>0$ for any $\lambda \in\left(0, \lambda^{*}\right)$. According to ( $a_{1}$ ), we can obtain (2.4) and (3.3) hold. It follows from ( $b_{1}$ ) and Lemma 3.1 that there exists $\phi_{0} \in C_{0}^{\infty}(\Omega)$ such that

$$
\int_{\Omega} b(x)\left(\phi_{0}^{+}\right)^{p^{*}} d x>0
$$

Since $F$ is positively homogeneous of degree $p^{*}$, we have (2.2) holds. It follows from $F \in C^{1}\left(\left(R^{+}\right)^{2}, R^{+}\right)$and (2.2) that there exists $\left(e_{1}, e_{2}\right) \in\left\{z \in\left(R^{+}\right)^{2}:|z|=1\right\}$ such that $F\left(e_{1}, e_{2}\right)=M$. Let $z_{0}=\left(e_{1} \phi_{0}, e_{2} \phi_{0}\right)$, from (2.4), we have

$$
I\left(t z_{0}\right) \leq\left(\frac{1}{p}+\varepsilon\right) t^{p}\left\|z_{0}\right\|_{E}^{p}-M t^{p^{*}} \int_{\Omega} b(x)\left(\phi_{0}^{+}\right)^{p^{*}} d x+C(\varepsilon) \lambda^{\frac{p}{p-q}}
$$

which implies that

$$
I\left(t z_{0}\right) \rightarrow-\infty \quad \text { as } \quad t \rightarrow+\infty
$$

Hence, there exists a positive number $t_{0}$ such that $\left\|t_{0} z_{0}\right\|_{E}>\rho$ and $I\left(t_{0} z_{0}\right)<0$ for any $\lambda \in\left(0, \lambda^{*}\right)$. Therefore, the functional $I$ has the mountain pass geometry. Define

$$
\Gamma=\left\{\gamma \in C([0,1], E) \mid \gamma(0)=0, \gamma(1)=t_{0} z_{0}\right\}, \widetilde{c}=\inf _{\gamma \in \Gamma} \max _{t \in[0,1]} I(\gamma(t)) .
$$

From Lemma 4.1, we have

$$
\tilde{c}<\frac{p}{N-p}\|b\|_{\infty}^{-\frac{N-p}{p}}\left(\frac{S_{F}}{p^{*}}\right)^{\frac{N}{p}}-B \lambda^{\frac{p}{p-q}} .
$$

Applying Lemma 2.4, we know that $I$ satisfies the $(P S)_{\tilde{c}}$ condition. By the mountain pass theorem (see [3]), we obtain that problem (1.1) has the second solution $\bar{z}_{\lambda}=\left(\bar{u}_{\lambda}, \bar{v}_{\lambda}\right)$ with $I\left(\bar{z}_{\lambda}\right)>0$. Noticing that $F_{u}\left(0,\left(\bar{v}_{\lambda}\right)^{+}\right)=F_{v}\left(\left(\bar{u}_{\lambda}\right)^{+}, 0\right)=0$, after a direct calculation, we derive that

$$
\left\|\left(\bar{u}_{\lambda}\right)^{-}\right\|^{p}=\left\langle I_{u}^{\prime}\left(\bar{u}_{\lambda}, \bar{v}_{\lambda}\right),-\left(\bar{u}_{\lambda}\right)^{-}\right\rangle=0, \quad \text { and } \quad\left\|\left(\bar{v}_{\lambda}\right)^{-}\right\|^{p}=\left\langle I_{v}^{\prime}\left(\bar{u}_{\lambda}, \bar{v}_{\lambda}\right),-\left(\bar{v}_{\lambda}\right)^{-}\right\rangle=0
$$

which implies that $\left(\bar{u}_{\lambda}\right)^{-}=0$ and $\left(\bar{v}_{\lambda}\right)^{-}=0$. Hence we have $\bar{u}_{\lambda} \geq 0$ and $\bar{v}_{\lambda} \geq 0$.
Next, we show that $\bar{u}_{\lambda} \neq 0$ and $\bar{v}_{\lambda} \neq 0$. Since $I\left(\bar{z}_{\lambda}\right)>0=I(0,0)$, we have $\bar{u}_{\lambda} \neq 0$ or $\bar{v}_{\lambda} \neq 0$. Without loss of generality, we may assume that $\bar{u}_{\lambda} \neq 0$ and $\bar{v}_{\lambda}=0$. Using the hypothesis that $F_{u}(u, 0)=F_{v}(0, v)=0$ for all $u, v \in R^{+}$, it is easy to obtain $\bar{u}_{\lambda}$ satisfies that

$$
\begin{cases}-\triangle_{p} \bar{u}_{\lambda}=\lambda a_{1}(x)\left(\bar{u}_{\lambda}\right)^{q-1}, & \text { in } \Omega  \tag{4.10}\\ \bar{u}_{\lambda}=0, & \text { on } \partial \Omega .\end{cases}
$$

Acting on (4.10) with $\bar{u}_{\lambda} \in W_{0}^{1, p}(\Omega)$ yields

$$
\int_{\Omega}\left|\nabla \bar{u}_{\lambda}\right|^{p} d x=\lambda \int_{\Omega} a_{1}(x)\left(\bar{u}_{\lambda}\right)^{q} d x
$$

Therefore, we have

$$
I\left(\bar{u}_{\lambda}, 0\right)=\frac{1}{p} \int_{\Omega}\left|\nabla \bar{u}_{\lambda}\right|^{p} d x-\frac{\lambda}{q} \int_{\Omega} a(x)\left(\bar{u}_{\lambda}\right)^{q} d x=\left(\frac{1}{p}-\frac{1}{q}\right) \int_{\Omega}\left|\nabla \bar{u}_{\lambda}\right|^{p} d x<0
$$

which is a contradiction with $I\left(\bar{u}_{\lambda}, 0\right)=I\left(\bar{z}_{\lambda}\right)>0$. Therefore, we have $\bar{u}_{\lambda} \neq 0$ and $\bar{v}_{\lambda}=0$ are not established. Similarly, we obtain $\bar{u}_{\lambda}=0$ and $\bar{v}_{\lambda} \neq 0$ are impossible. Hence we have $\bar{u}_{\lambda} \neq 0$ and $\bar{v}_{\lambda} \neq 0$.

Moreover, if $a_{i}(x) \geq 0(i=1,2)$ and $b(x) \geq 0$, a same argument with the proof of Theorem 1.1, we obtain that $u_{\lambda}>0, v_{\lambda}>0$, and $\bar{u}_{\lambda}>0, \bar{v}_{\lambda}>0$ in $\Omega$. The proof of Theorem 1.2 is completed.

Acknowledgement. Supported by National Natural Science Foundation of China (No.11071198), and supported by Science and Education Youth culture project in Guizhou Province (Contract Number: Guizhou Provincial Institute of Zi (2012) No. 157).

## References

[1] C. O. Alves, Multiple positive solutions for equations involving critical Sobolev exponent in $\mathbf{R}^{N}$, Electron. J. Differential Equations 1997, no. 13, 10 pp . (electronic).
[2] A. Ambrosetti, H. Brezis and G. Cerami, Combined effects of concave and convex nonlinearities in some elliptic problems, J. Funct. Anal. 122 (1994), no. 2, 519-543.
[3] A. Ambrosetti and P. H. Rabinowitz, Dual variational methods in critical point theory and applications, $J$. Functional Analysis 14 (1973), 349-381.
[4] P. Amster, P. De Nápoli and M. C. Mariani, Existence of solutions for elliptic systems with critical Sobolev exponent, Electron. J. Differential Equations 2002, no. 49,13 pp. (electronic).
[5] H. Brézis and E. Lieb, A relation between pointwise convergence of functions and convergence of functionals, Proc. Amer. Math. Soc. 88 (1983), no. 3, 486-490.
[6] C.-M. Chu and C.-L. Tang, Existence and multiplicity of positive solutions for semilinear elliptic systems with Sobolev critical exponents, Nonlinear Anal. 71 (2009), no. 11, 5118-5130.
[7] Q. Dai and L. Peng, Necessary and sufficient conditions for the existence of nonnegative solutions of inhomogeneous p-Laplace equation, Acta Math. Sci. Ser. B Engl. Ed. 27 (2007), no. 1, 34-56.
[8] D. G. De Figueiredo, J.-P. Gossez and P. Ubilla, Local superlinearity and sublinearity for indefinite semilinear elliptic problems, J. Funct. Anal. 199 (2003), no. 2, 452-467.
[9] D. G. de Figueiredo, J.-P. Gossez and P. Ubilla, Multiplicity results for a family of semilinear elliptic problems under local superlinearity and sublinearity, J. Eur. Math. Soc. (JEMS) 8 (2006), no. 2, 269-286.
[10] D. G. de Figueiredo, J.-P. Gossez and P. Ubilla, Local "superlinearity" and "sublinearity" for the p-Laplacian, J. Funct. Anal. 257 (2009), no. 3, 721-752.
[11] D. C. de Morais Filho and M. A. S. Souto, Systems of $p$-Laplacean equations involving homogeneous nonlinearities with critical Sobolev exponent degrees, Comm. Partial Differential Equations 24 (1999), no. 7-8, 1537-1553.
[12] H. Egnell, Existence and nonexistence results for $m$-Laplace equations involving critical Sobolev exponents, Arch. Rational Mech. Anal. 104 (1988), no. 1, 57-77.
[13] I. Ekeland, On the variational principle, J. Math. Anal. Appl 47 (1974), 324-353.
[14] J. P. García Azorero, I. Peral Alonso and J. J. Manfredi, Sobolev versus Hölder local minimizers and global multiplicity for some quasilinear elliptic equations, Commun. Contemp. Math. 2 (2000), no. 3, 385-404.
[15] J. García Azorero and I. Peral Alonso, Some results about the existence of a second positive solution in a quasilinear critical problem, Indiana Univ. Math. J. 43 (1994), no. 3, 941-957.
[16] P.-G. Han, Multiple positive solutions of nonhomogeneous elliptic systems involving critical Sobolev exponents, Nonlinear Anal. 64 (2006), no. 4, 869-886.
[17] T.-S. Hsu, Multiple positive solutions for a critical quasilinear elliptic system with concave-convex nonlinearities, Nonlinear Anal. 71 (2009), no. 7-8, 2688-2698.
[18] T.-S. Hsu, Multiplicity results for $p$-Laplacian with critical nonlinearity of concave-convex type and signchanging weight functions, Abstr. Appl. Anal. 2009, Art. ID 652109, 24 pp.
[19] T.-S. Hsu and H.-L. Lin, Multiple positive solutions for a critical elliptic system with concave-convex nonlinearities, Proc. Roy. Soc. Edinburgh Sect. A 139 (2009), no. 6, 1163-1177.
[20] Y.-X. Hu, Existence of multiple solutions for some quasi-linear elliptic systems with lack of compactness, Math. Appl. (Wuhan) 19 (2006), no. 3, 531-538.
[21] T.-X. Li and T.-F. Wu, Multiple positive solutions for a Dirichlet problem involving critical Sobolev exponent, J. Math. Anal. Appl. 369 (2010), no. 1, 245-257.
[22] M. L. Miotto, Multiple solutions for elliptic problem in $\mathbb{R}^{N}$ with critical Sobolev exponent and weight function, Commun. Pure Appl. Anal. 9 (2010), no. 1, 233-248.
[23] G. Talenti, Best constant in Sobolev inequality, Ann. Mat. Pura Appl. (4) 110 (1976), 353-372.
[24] G. Tarantello, On nonhomogeneous elliptic equations involving critical Sobolev exponent, Ann. Inst. H. Poincaré Anal. Non Linéaire 9 (1992), no. 3, 281-304.
[25] J. L. Vázquez, A strong maximum principle for some quasilinear elliptic equations, Appl. Math. Optim. 12 (1984), no. 3, 191-202.
[26] J. Velin, Existence results for some nonlinear elliptic system with lack of compactness, Nonlinear Anal. 52 (2003), no. 3, 1017-1034.
[27] M. Willem, Minimax Theorems, Progress in Nonlinear Differential Equations and their Applications, 24, Birkhäuser Boston, Boston, MA, 1996.
[28] T.-F. Wu, On semilinear elliptic equations involving critical Sobolev exponents and sign-changing weight function, Commun. Pure Appl. Anal. 7 (2008), no. 2, 383-405.
[29] T.-F. Wu, The Nehari manifold for a semilinear elliptic system involving sign-changing weight functions, Nonlinear Anal. 68 (2008), no. 6, 1733-1745.
[30] H.-H. Yin and Z. D. Yang, A class of $p-q$-Laplacian type equation with concave-convex nonlinearities in bounded domain, J. Math. Anal. Appl. 382 (2011), no. 2, 843-855.

